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Simcc doubling the conceniration of B docs not change

halflife, thereacuon isof 1st order wrat B

Order of reaction with respect 10 4 = | because rate of
reaclion doubles when concentration of A is doubled
keeping conceniranon of /# constant.

-, Order ofrcaction =1 + 1 =2 and units of sccond
order rcaction arc L mol ' sec™!.

Themolccularityof arcacuon is thenumberofrcactant
molcculcs taking part in a singlc sicp of the rcacuion.
Thus the rcacuon involving two dilf cremt rcactant can
never be unimolecular.

Lettherate law be r =k |A)¥B)Y
0.10 10.024)*[0.035)

Pivide(Hby () 576 10.012)*(0.035)"

S=12)5,x=0

Divide (2) by (3) cecof a4
g 0.10  [0.024]¥(0.035)

S 8=Q)Y,y=13

tHencerate equation, R =k|A*|B)* =k|B]}
If w¢ writc ratc of rcaction in Icrims of concentrauon of
NH,; and Hy,then

1 dINH;] 1 d{tly)

Rateofreaction = — ——
2 3
d{NH;] 2 d[H,]
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As doubling th¢ imtial conc. doubics the raic of
rcacuon, order =1



